Quiz VI General Chemistry II Lecture Dr. Habm 20 pts 4/5/13F form A 9330 am quiz#

Name / LAy (print) Name (sign)
Please show all wetk for full credit & to get partial credit. (suggestion: A guess is better than no answer.)
pH+ pOH=14 [H;O'[JOH]=10x10""=ky  p (anything) = - log (anything)

H = pK, + log { [base] / [acid] } ™M =molarity = moles / liter

1. Calculate the pH of a buffer solution with a concentration of 0.3 M HCN and 0.2 M Na CN.
pK, of HCNis 9.31 Use the Henderson Hasselbalch. (10 pts) '
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2. Which of the titration curves shown bel
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3. Match the titration curve for a strong acid being titrated by adding a strong base With'the statements
below. You may use the letters one time, no time or many times. (a) [H=[H:0"]=[HA] (HA is
a generic strong acid) (b) pH=7 (c) M= (# moles acid - # moles base) / total volume (d) M=(#
moles base - # moles acid) / total volume (6 pts)
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Extra Credit (4 pts): For the reaction KOH(s) > K" + OH give the expression for Ksp
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Quiz VI General Chemistry II Lecture Dr. Hahn 20 pts 4/5/13F formB 9:30 am quiz#

Name k, b (print) Name (sign)
Please show alkfvork for full credit & to get partial credit. (suggestion: A guess is better than no answer )
pH+ pOH=14 [H;O')[OH]=10x10""=ky  p (anything) = - log (anything)

pH = pK, + log { [base] / [acid] } ™ =molarity = moles / liter

1. Calculate the pH of a buffer solution with a concentration of 0.25 M CH;COOH and 0.15 M
CH;COO Na. pK, of CH;COOH is 474, Use the Henderson Hasselbalch. (10 pts)

= pka @@} @+5C00MJ
o= f [ Oty Cools)

0./7
Pl 7% « lug (
7= ¢ <022 = 457

2. Which of the titration curves shown below is a weak acid to which you add a strong base ? Circle
the letter under the t1trat10n curve shown. (4 pts)
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y adding a strong base with the statements
below. You may use the letters one time, no time or many times. (a) [H']=[H;0'} = [HA] (HA is
a generic strong acid) (b) pH = 7 (c) M = (# moles acid - # moles base) / total volume (d) M= (#
moles base - # moles acid) / total volume (6 pts)

3. Match the titration curve for a strong aci
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Extra Credit (4 pts): For the reaction Ang -2 Lptg, + S " give the expression for Ksp 5,
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Quiz VI General Chemistry Il Lecture Dr. Hahn 20 pts 4/5/13F form A 11:30 am quiz#

Name / & (print) Name (sign)
Please show all work f6r full credit & to get fartial credit. (suggestion: A guess is better than no answer.)
pH+ pOH=14 [HO'JJOH]=10x10"=kw p(anything)= -log (anything)

pH = pK, + log { [base] / [acid] } M =molarity = moles / liter

1. Which is the conjugate base for the following acid ? (4 pts)

HCN (

2. Match the titration curve for a strong acid being titrated by adding a strong base with the staterents

below. You may use the letters one time, no time or many times. (a) [H']=[H;0"] =[HA] (HA is
a generic strong acid) (b) pH=7 (¢) M = (# moles acid - # moles base) / total volume (d) M=#
moles base - # moles acid) / total volume (6 pts)
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3. Inatitration, if you add 20.0 mL of a strong base(NaOH) with a concentration of 0.25 M (NaOH) to
a 30.0 mL solution of a strong acid (HCI) of concentration of 0.10 M, what is the [H;0"]? (Thisisa
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Extra Credit (4 pts); For the reaction Pbl)z > Pb* "+ 2T give the expression for Ksp
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Quiz VI General Chemistry II Lecture Dr. Hahn 20 pts 4/5/13F formB 11:30 am quiz #

Name k@(v\/ (print) Name (sign)

Please show all wek for full credit & to get ?artlal credit. (suggestion: A guess is better than no answer.}

pH+ pOH=14 [H;0'[OH]}=10x10"=ky p (anything) = - log (anything)
pH = pK, + log { [base] / [acid] } M = molarity = moles / liter

1. Which is the conjugate base for the following acid 7 (4 pts)

CH,COO H C&i COO@

2. Match the titration curve for a strong acid being titrated by adding a strong base with the statements
below. You may use the letters one time, no time or many times. (a) [H']=[H:0"]=[HA] (HA is
a generic strong acid) (b) pH =7 (¢) M= (# moles acid - # moles base) / total volume (d) M=(#
moles base - # moles acid) / total volume (6 pts)
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3. In a titration, if you add 30.0 mL of a strong base(NaOH) with a concentration of 0.15 M (NaOH)} to

a 20.0 mL solution of a strong acid (HCY) of concentration of 0.50 M, what is the [H;0'] ? (Thisisa
before equivalence point problem.) (10 pts)
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Extra Credit (4 pts): For the reaction Ba SO, > Ba™ + S04° givethe ion for Ksp
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Quiz VI General Chemistry I Lecture Dr. Hahn 20 pts 4/5/13F form A 930 am  quiz # [‘-Z

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)
pH+ pOH=14 [H:O'[OH]=10x10"=ky  p (anything) = - log (anything)

pH = pK, + log { [base] / [acid] } ™M = molarity = moles / liter

1. Calculate the pH of a buffer solution with a concentration of 0.3 MHCN and 0.2 M Na CN.
pK.of HCN is 9.31 Use the Henderson Hasselbalch. (10 pts)

2. Which of the titration curves shown below is a weak acid to which you add a strong base ? Circle
the letter under the titration curve shown. (4 pts) :
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3. Match the titration curve for a strong acid being titrated by adding a strong base with the statements
below. You may use the letters one time, no time or many times. (a) [H']= [H:0'] = [HA] (HA is
a generic strong acid) (b) pH=7 {c) M = (# moles acid - # moles base) / total volume (d) M =(#
moles base - # moles acid) / total volume (6 pts)
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Extra Credit (4 pts): For the reaction KOH(s) > K+ OII give the expression for Ksp



Quiz VI General Chemistry IT Lecture Dr. Halm 20 pis 4/5/13F formB 930 am quiz# [~¢

Name (printy Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)
pH+ pOH=14 [H:O'JOH]=10x10"=ky p (anything)= - log (anything)

= pK, + log { [base] / [acid] } M = molarity = moles / liter

1. Calculate the pH of a buffer solution with a concentration of 0.25 M CH3COOH and 0.15M
CH;COONa. pK, of CH;COOH is 4.74. Use the Henderson Hasselbalch. (10 pts)

2. Which of the titration curves shown below is a weak acid to which you add a strong base ? Circle
the letter under the titration curve shown (4 pts)

3. Match the tltratlon curve for a strong acid being tltrated by adding a strong base Wlth the statements

below. You may use the letters one time, no time or many times. {a) [H'] = [l0'] = [HA] (HA is )

a generic strong acid) (b) pH=7 (c) M = (# moles acid - # moles base) / total volume (d) M= (#
moles base - # moles acid) / total volume (6 pts)
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Extra Credit (4 pts). For the reaction = 4 _ - give the expression for Ksp

@,9(9) — 7,@5# +



Quiz VI General Chemistry I Lecture Dr. Hahn 20pts 4/5/13F formA 11:30 am quiz# ] —|\|

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)
pH+ pOH=14 [H:0'][OH]=1.0x10"=kw p (anything)= - log (anything)

pH =pK, + log { [base] / [acid] } M = molarity = moles / liter

1. Which is the conjugate base for the following acid ? (4 pts)

HCN

2. Match the titration curve for a strong acid being titrated by adding a strong base with the statements
below. You may use the letters one time, no time or many times. (a) [H]=[H0"] = [HA] (HA is
a generic strong acid) (b) pH="7 (c) M = (# moles acid - # moles base) / total volume (d) M= #
moles base - # moles acid) / total volume (6 pts)
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3. In a titration, if you add 20.0 mL of a strong base(NaOH) with a concentration of 0.25 M (NaOH) to
a 30.0 mL solution of a strong acid (FIC1) of concentration of 0.10 M, what is the [H;01? (Thisisa
after equivalence point problem.) (10 pts})

Extra Credit (4 pis): For the reaction Pbl, 2 Pb" + 2T give the expression for Ksp
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Quiz VI General Chemistry If Lecture Dr. Hahn 20 pts 4/5/13F formB 11:30 am quiz#Lf'\L

Name - {print) Name (sign)
Please show all work for fill credit & to get partial credit. (suggestion: A guess is better than no answer.)
pH+ pOH=14 [H:0'][OH]=1.0x10"=kw p (anything)= - log (anything)

pH = pK, + log { [base] / [acid] } M =molarity = moles / liter

1. Which is the conjugate base for the following acid 7 (4 pts)
CH;COO H

2. Match the titration curve for a strong acid being titrated by adding a strong base with the statements
below. You may use the letters one time, no time or many times. (a) [H']=[H;0']=[HA] (HA is
a generic strong acid) (b) pH =7 (¢} M =(# moles acid - # moles base) / total volume (d) M=(#
moles base - # moles acid) / total volume (6 pts)
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3. Ina titration, if you add 30.0 mL of a strong base(NaOH) “with a concentration of 0.15 M (NaOH) to
a 20.0 mL solution of a strong acid (HCI) of concentration of 0.50 M, what is the [F30"] ? (Thisisa
before equivalence point problem.) (10 pts)
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Extra Credit (4 pts): For the reaction Ba'SO; 2 Ba'? + 8047 give the expression for Ksp
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